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ENGLISH VERSION

paper.

Instructions : (1) There are total four questions in this question

(2) The marks of each question is shown on

right side.
(3) Show required calculations as part of answer.
Mr. Jiyan received an offer from one company at a 20
basic salary of Rs. 1,24,000 per month. Other allowances
are given below :
—  Dearness allowance is 18% of basic pay.
— Bonus 1s equal to one month basic pay.
—  Project allowance is 6% of basic pay.
Company gives following two options to Mr. Jiyan.
Option—1 : To take a rent-free accommodation. And the
company would pay the rent of
Rs. 45,000 per month directly.
Option—2 : To accept a house rent allowance of
Rs. 45,000 per month and find out own
accommodation. Mr. Jiyan pay a house rent
Rs. 45,000 per month for house.
Suggest which one is better option ?
OR
Mrs. Vishva purchases 4,000 equity shares of 20
Shubham Ltd. on April 16, 2013 at the rate of Rs. 2 per
share. Shubham Ltd. goes into liquidation on 30th June
2017. The balance sheet of the company as on 30th June
2017 is as follows :
Liabilities Rs. | Assets Rs.
40,000 Equity 10,000 Debentures
shares 4,00,000 | of Z Ltd. (Non-listed)
(cost Rs. 9,00,000 at
the time of acquisition
on May 1, 2016) 28,00,000
Accumulated
profit 30,00,000 | Cash in hand 12,10,729
Provision for
dividend tax 6,10,729
40,10,729 40,10,729

Assets are distributed to the shareholders. Consequently Vishva
gets 1,000 debentures of Subham Ltd. (Market Value
Rs. 2,80,000) and Rs. 60,000 in cash on June 30, 2017. She
transfers 1,000 debentures on April 6, 2018 for Rs. 3,10,000.

Find out taxable amount for Subham Ltd. and Mrs. Vishva.
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Meera Ltd. owns two plants, Plant-A and Plant B.
Depreciated value of the plants on April 1, 2018 1is

Rs. 3,90,000. find out the amount of depreciation and capital

gain in the following situation.

Situation—1 :

Situation — 2 :

Situation—3 :

Situation — 4 :

Plant-B destroyed by fire on May 31, 2018.
Insurance company pays Rs. 50,000 as
compensation.
Suppose under situation 1, insurance
compensation as well as cost of plant-C is
Rs. 4,60,000.
Plant-B is destroyed by fire on May 31, 2018.
Insurance compensation 1s determined at
Rs. 60,000. Instead of paying Rs. 60,000 as
compensation the insurance company gives
plant-C whose market value 1s Rs. 60,000. It
1s put to use on October 16, 2018.
Suppose under situation-3 insurance
compensation and fair market value of plant-
C is Rs. 4,90,000.

OR

Explain the legal provisions as regards to “Scientific

Research” for manufacturing companies under the Corporate

Tax Planning.

State the points to be considered at the time

of Tax Planning for “improvement of quality” of any

manufacturing

machinery.

20

20

Discuss the legal provisions regulating for transfer pricing. 15

Explain :

OR

(1) Double Taxation Relief
(2) Advance Ruling

Explain the benefits of amalgamation available under

the Income Tax Act.

Write a short
(a) Demerger

OR

note :

(b) Legal provisions for conversion of partnership firm into

company.
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